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Use the information from the resource booklet and the boxes in this booklet, in addition to your

business knowledge, to complete this task.

Kete Kai sta*ed in Auckland in 2011 with a simple idea - to supply a low-cost food box

of natural ingredients and recipes for households, to allow them to home-cook and

share great family meals.

The business founders placed a real focus on social sustainabilityr, for their customers

and for their employees. They worked hard to maintain good relationships.

Sales grew rapidly in the years up to 2016.

TASK

(a) Using Resources A and B, fully explain TWO possible causes of Kefe Kals rapid sales
growth to 2016.
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ln 201,6, Kete Kai made the decision to apply the same

Australia. Investor interest was higlu and IQte Kai ruised sufficient capital to fund cash

flow for the Sydney growth strategy.
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Using Resources C and D, fully explain TWO possible effects on Kete Kai of ils decision to

expand into Sydney.
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Kete Kai's first premises in Sydney were hired on a short-term basis. Once initial
expansion problems had been overcome, Kete Kai decided it would need to purchase a

larger Australian warehouse location to operate from in the long term. It looked at two
possible solutions.

(c) Using Resource E, evaluate BOTH possible solutions.

ln your answer:

. fully explain ONE positive effect that EACH solution would have on the business

. state the solution you recommend

. justify your recommendation by explaining why it would be a better solution lot Kete Kai
than the other option.
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Kete Ka{ s next step was to purchase a large-scale refrigeration unit, to be installed at the

new location to keep meats, fruits, and vegetables fresh. The production manager has

researched many models and has suggested two possible solutions to choose from.

(d) Using Resource F, evaluate BOTH possible solutions.

ln your answer:

. fully explain ONE positive effect that EACH solution would have on the business

. state the solution you recommend

' justify your recommendation by explaining why it would be a better solution for Kete Kai
than the other solution.

Ss-\.$''o^ A'S PcSSrrr,s .€=+kcl 
"tf , ^q!d 

ltqus e\
tli lp.,"Sr"rss -!S 

i +fs av<"rafl( ka+e -o+

reh-rrn c\\ 1:5 /,, ft,.\s ),q.r(d horve c\.

PoSl+,:/( q|€ec* rr. j& b.rsi4ass AS )+ ;9 A.

Cf^po-l- ogii orn i'l^*",. i+. lA L"/ :l:l
Ssl"lti<>l ts .lQ.rs qr\el. u,rsrt\d bt \tuuch ol.aap"r

S o 1.-i..h\rr,,,. B's possi\i < q-pp e e.l- 1'f ,,r,,"tt(cr\ h,,ve

b*q;^^Ss 'i: it* siz< qC i''t

SqIeS <+qr^r. ?icUt, "P i..t *r..t Arasf',a!!1n

! 4rh€l-., 413 vr,ilr ,bt Much. 4^gr< iNSi'ec{i*r'r'15

dov'a,\n3 on$ g€\*j .^.at].. q\] 
"-te-ditr1 le#i

1L4 Siz t + n1.-" A"l3t i,zr- S€!.e.licv B ta
vr" ^c\ b) jg + t, o -al fl+rr& v-+ ,-a r t h- l di ar. u C. L^

ir,r..,,y-q VZlvltdVt,zS ir,. .f[\ t".ry r-uu^.,f

T 'usr.\ til r€Lsi^(-d\^A kj.}" K.ni )otS 
*it\

geiurh'.,n S, af;S )s o[,.1 i.," a--.f fi]!*.
r,rqsc,"\S d"^.. .i',, u^,^,'.l}.\- ,!1\ ft^c{3" "PC..S 

qnoi

+!:1 Atrr oL'\ *i^- hc;t3* 'r*S-lf, A s 4a1vr.lt"1tcl

ubov {. , tio si) e . } *i.t S', dgt is n rut c \y

Business Studies 91 381, 2017



bg5n. *t^q^ So [.rii sn fi, t|1c\ ]ae\^lol ${qv,
i r- t# rr.o,.rtel. L( w.-*C\ <o..s'te-r +" t.o t o'\

S Jargtv- ^qvr^t_er 
+ veg€+o.bles 'rn : fr1+|s^:f?\

t\ o\wr(3e rcr,l< o* ae-*lrrn ls k\gt^.tr ll.evr

Sot'\h\n fr ql lo:-L'l: cevq?hre9! .lo '7;e'4.,

+{"e Pt)lesL Pev-tPd
t-
f,orr nAor? flttr,l-

-&L!^ten B --of&.5 ,3O H.I9 - ,t4e4ihl f" 7..y

Sooner t't'.qv. 'rl's 
)n'|en-ded bc,-c). gen 

" 
Ol "

@

5gl3 ---Kqr- !*ys brc\.r.hov... ra{'\'"e" 'fi"*^

5o1q[rour A. ti' '- t--

ASSESSOR'S

I'SEONLY

rs iong er, 9)lA:y k*<
p*{ f"g }l"t 'fhdge 

"flF

B

Business Studies 91 381, 2017



10

Extra space if required.

Write the question numbe(s) if applicable.
QUESTION
NUIIBER
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Subject: Level 3 Business Studies Standard: 91381 Total score: A4 

Q 
Grade 
score 

Annotation 

1 A4 

Part (a) 

The candidate has explained two causes of rapid sales growth (many 
candidates simply stated the causes using information from the resources). 
This candidate has explained the causes, by providing examples, with 
reasons for increased customer satisfaction and the impact of falling 
unemployment. 

Part (b) 

The candidate has explained two effects on the business of its expansion. 
Firstly, the impact of not being able to source key ingredients, and secondly, 
the effect of the language barrier. The second cause was given a weak 
explanation, as little evidence was provided for the impact on the actual 
business in Australia. 

Part (c) 

The candidate has explained the effect of both solutions. However, there is 
not enough detail regarding the effect on the business, so this is not a Fully 
Explained answer. The recommendation does provide some additional 
information, and could have contributed to a higher grade if the candidate’s 
responses to other parts of the task had included more detailed 
explanations. 

Part (d) 

The candidate has provided weak explanations for each solution. The 
recommendation provides additional explanations. As a result, this answer 
can be evaluated holistically as a sound response. 

Overall, this candidate’s response to the task is at Achievement level. 
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